
Montage- und Bedienungsanleitung
Assembly and operating instructions
Notice d’emploi et de montage

CP 40 Tragarmsystem Edelstahl

CP 40 Support arm system stainless steel

Bras porteur en acier inoxydable CP 40

CP 6660.010

CP 6660.050

CP 6663.000

CP 6663.400

CP 6663.500

CP 6664.000

CP 6664.100

CP 6664.300

CP 6664.500

CP 6665.000

CP 6665.500



2 CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

Inhaltsverzeichnis/Contents/Sommaire

Belastbarkeit/Load capacity/Charge admissible
Zulässige Belastung in Abhängigkeit vom Systemaufbau
Permissible load depending on system confi guration
Charge admissible en fonction de la confi guration choisie

2 – 3, 
12

2 3 6663.000 4 6664.300 5

6664.500 6 6664.000 7 6663.500 8 6663.400 9 6665.000 10

6665.500 11 6664.100 12

EN FD

EN FD

400

600

800

200

0
0 500 1000 1500

Z
u
lä

s
s
ig

e
 s

ta
ti
s
c
h
e
 L

a
s
t 

[N
]

(G
e
h
ä
u
s
e
 u

n
d

 v
e
rt

ik
a
le

r 
Tr

a
g

p
ro

fi l
a
b

s
c
h
n
it
t)

Auslegerlänge B (mm)

FN

FN

B

A C

A max. = C max. = 800 mm



3CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

15

10
°

30

Ø 48.3

31

Ø 84

52

Ø 40 Ø 40

Ø 84

23
30

53

Ø 48.3

0,7 kg 6664.100 1,3 kg 6664.500 1,1 kg 6664.000

70

10
5

67.5
105

13
5.

5

135.5

Ø
 6

1
70

Ø 61

65.5

3

65

Ø
 4

8.
3

20

1,3 kg 6664.300 1,7 kg 6663.000

Ø 110

Ø 40M8 M8

11
1

Ø 48.3

48

Ø 149

12

Ø 40

11
1

Ø 48.3

48

14
4

71

129

52

3,9 kg 6663.500 4,5 kg 6663.400 1,5 kg 6665.000

14
4

71

129

52

48.3

1,8 kg 6665.500
500 mm 2,0 kg 6660.050

1000 mm 3,9 kg 6660.010

EN FDmm



4 CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

1

90

9 
/ 

M
8

42 – 50

2.1

2.2 2.3

2.4

4

3

5

EN FD

CP 6663.000

SW5/6 SW13 mm

1

4

5

5

2

3

5

5

MD = 30 Nm

MD = 25 Nm

4x M8

4x M8

3x M10 x 20

48 x 4

2x M12 x 16



5CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

1 2

5

EN FDSW5/6

1

3

3

3

3

5

5

5

5

2

2

1

4

2x 48 x 4

A

B

3

MD = 25 Nm

4x M10 x 12

A

4

MD = 25 Nm

2x M10 x 12

B

B

B

B

A

CP 6664.300

EN

� GEFAHR!

�  Unmittelbare Gefahr für Leib und Leben. 
Halten Sie die auf Seite 2 vorgegebenen Belastungsangaben 
ein. Halten Sie alle vorgegebenen Drehmoment angaben ein. Ein 
Über- bzw. Unterschreiten der in dieser Anleitung vorgegebenen 
Anzugsdrehmomente kann zu Anlagenschäden oder zu schweren 
bis hin zu tödlichen Verletzungen führen.

�  Es sind geeignete Maßnahmen zur stabilen und dauerhaften Befes-
tigung des Tragarmsystems an der Montage-fl äche zu ergreifen!

EN

�  DANGER!

�  Immediate danger to life and limb.
Observe the load specifi cations given on page 2.
Observe all specifi ed tightening torques. If screws or bolts are 
tightened with torques greater or less than those specifi ed in these 
instructions, this may result in damage and serious or even fatal 
injuries.

�  Please ensure that the support arm system is securely and perma-
nently fastened to the mounting surface!

EN

�  DANGER!

�  Danger de mort immédiat pour la personne.
Respectez les charges mentionnées à la page 2.
Respectez les couples indiqués. Un dépassement vers le haut ou 
vers le bas des couples indiqués dans cette notice peuvent con-
duire à des dommages au niveau de l’installation ou à de graves  
blessures qui peuvent même être mortelles.

�  Il faut prendre les mesures appropriées pour fi xer solidement et de 
manière durable le bras porteur sur sa surface de montage !

3.

M = min. 25Nm

3.

M = min. 25Nm

4.

M = 25Nm

4.

M = 25Nm

M = min. 25Nm

6.

1.

M = min. 25Nm

5.

1.

M = 25Nm

5.

2.

M = 25Nm

6.

2.

3 3



6 CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

EN FDSW4/5 mm

1

3 3

2

5

6

4

1

3

2

4

5

CP 6664.500

MD = 20 Nm

2x M10 x 12

48 x 4

76 x 3

6.2

MD = 6 Nm

4x M5 x 20

4x A5.3

Option 1

49

5.5

40

6.1 Option 1

6.2

MD = 25 Nm

4x M8 x 16

4x A8.4

Option 2

62

9

40

6.1 Option 2



7CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

5

EN FDSW4/5 mm

1

3 3

2

5

6

4

1

3.1 3.2

2

CP 6664.000

MD = 20 Nm

6.2

MD = 6 Nm

4x M5 x 20

4x A5.3

49

5.5

40

6.1

2x M10 x 12

M5 x 10

48 x 4

4

76 x 3

180°

180°



8 CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

SW13 EN FDSW6

CP 6663.500

1

3
3

3

2

4

5

6

1

3 4

2

5.2

95.5

9

40

5.1

6.1

MD = 30 Nm

MD = 25 Nm

MD = 23 Nm

4x M12 x 16

1x M6 x 20

4x M8
4x A8.4

48 x 4

60°
120°

180°

6.2a 6.2b

6.2c

60° 120°

180°



9CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

6

6.1

MD = 23 Nm

SW13 EN FDSW6

CP 6663.400

1

3 4

129
M8/Ø9

40

5.1

2

5.2

MD = 30 Nm

MD = 25 Nm

48 x 4

1

3

5

5

5

3

3

2

4

4x M12 x 16

1x M6 x 20

4x M8

4x A8.4

60°
120°

180°

6.2a 6.2b

6.2c

60° 120°

180°



10 CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

EN FDSW13

CP 6665.000

4.2

3
1

1

2

2

2

2

4

A

A B

B

A

10
0

9

10
5

70

90

4.1 4.2 B

2

MD = 25 Nm

4x M8 x 25

4x A8.4

A

3 A 3 B

4x M8

1 A

Ø 80/109

1 B

Ø 70/110

4x A8.4

4x M8

4x A8.4

2

MD = 25 Nm

B

4x M8

4x A8.4

4x M8 x 35

4

MD = 25 Nm MD = 25 Nm

SW6



11CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

4.2 A

M
8/

Ø
9

10
5

10
0

140

70

4.1 4.2 B

2

MD = 25 Nm

4x M8 x 25

4x A8.4

A

3 A 3 B

4x M8 4x M8

1 A

Ø 80/109

1 B

Ø 70/110

4x A8.4 4x A8.4

EN FDSW13

CP 6665.500

2

MD = 25 Nm

B

4x M8

4x A8.4

3
1

1

2

2

2

2

4

4

A

A B

B

4

MD = 25 Nm MD = 25 Nm

SW6

4x M8 x 35



12 CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

EN FD

EN FD

CP 6664.100

1 2

3.2

49

5.5

40

3.1

MD = 6 Nm

MD = 6 Nm

10°

D Zum Transport von vormontierten Tragarmsystemen sind geeignete Transportsicherungsmaßnahmen zu ergreifen!

EN Pre-assembled support arm systems must be stabilised securely and protected appropriately for transportation!

F Des mesures de sécurité adéquates doivent être prises pour le transport des bras porteurs pré-assemblés !

E ¡Deben tomarse las medidas de protección apropiadas para el transporte de los sistemas de brazo soporte!

I Per il trasporto di sistemi a braccio portante premontati, sono necessarie adeguate misure di sicurezza.

NL Voor het transport van vooraf gemonteerde draagarmsystemen dienen passende transportbeveiligingsmaatregelen genomen
te worden!

S Förmonterat bärarmssystem måste skyddas och stabiliseras på lämpligt sätt för säker transport!

J

1

2

3

4x M5 x 20

4x M5 x 16

4x A5.3

4x A5.3



13CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

Notizen/Notes



14 CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

Notizen/Notes



15CP 40 Tragarmsystem Edelstahl – Montageanleitung/CP 40 Support arm system stainless steel – assembly instructions/
Bras porteur en acier inoxydable CP 40 – Notice de montage

Notizen/Notes



RITTAL GmbH & Co. KG

Postfach 1662 · D-35726 Herborn

Phone + 49(0)2772 505-0 · Fax + 49(0)2772 505-2319

E-mail: info@rittal.de · www.rittal.com

 ◾ Enclosures

 ◾ Power Distribution

 ◾ Climate Control

 ◾ IT Infrastructure

 ◾ Software & Services

1
0
.2

0
1
5
/D

-0
0
0
0
-0

0
0
0
0
4
4
4
 R

e
v.

0
0


